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AT4 AR
hS A S
it b S NEERNE | BEERLR | WBRERIR AGEERIR KREERNSR | LEEFRNSR | ERERS
it 59— it 59—
INPUT (Hir)
IRNF—BAE KL [RihiE 833.2 1,285.0 427.1 87.3 64.1 97.5 98.6 99.0 54.0 134.5
ey KL [RihiE 31.5 136.6 68.7 59.5 53.1 42.6 68.3 39.6 39.3 57.5
B|BhHE Fkwh 3,182.1 4,556.7 1,435.9 108.3 42.5 213.6 117.8 230.6 56.9 304.6
KEFIEARE Fm3 20.7 32,5 119 1.4 1.0
EERKFIAE Fm3
FKFIRAE Fm3
iRERE k> 14.9 12.0 1.9 0.9 0.8 6.9 0.8 2.3 0.4 0.7
PRTRESILFMEEISA R k>
VOC(IERIAMILSIRAE) k>
OUTPUT (Hfir)
BREHRHR
CO2#tiE k>-Cc02 1,817.4 2,864.9 924.4 214.3 161.6 228.5 242.6 230.2 133.6 317.4
k& Fm3 194 28.8 8.9 1.4 1.0
BOD b
cobD b
ARSBRME
NOx k> 0.3
SOx b
FWOA k> 0.0
PRTRESLFMEHHE - BEE b
HEHE k>
= k>
VOC(IERIHRHMILEM)BHIE k>
FEEMERES X1 k> 39.1 78.5 13.5 1.0 1.0 65.8 12.0 61.1 15 15
BEMFEER k> 68.0 89.7 20.2
EENRLES k> 39.1 78.5 13.5 1.0 1.0 65.8 12.0 61.1 15 15
RSB E k> 0.0 1.0 5.3 1.5
BERtE k> 107.1 168.3 22.7 1.0 65.8 6.8 61.1 15
BERMEE x2 100.0% 100.0% 99.9% 100.0% 0.0% 100.0% 56.4% 100.0% 0.0% 100.0%

%1 Bffinzassd.

X2 BERMLE=-BARCE: (BERMLE+RRLDE)
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AT4 B SRS
NYAESEAY—ER nyAFIJ noA _ Wigh> A
*it so=puC | R=IFAVY cxb T27=F ez Rl
it R CREE) frimits PRIYZ FIAK e it =2 B|BFIX
INPUT (84i7)
IXNF—BAE KL RihiaE 46.2 263.5 32.9 114.0 38.3 4.1 36.4 3.3 2,269.1 320.6 409.4
AR KL R 0.8 5.5 2.1 3.3 0.9 0.0 0.0 0.0 147.6 2.1 3.2
B|BhE FkWh 178.8 1,002.9 122.0 435.4 147.3 15.8 143.6 13.0 8,446.3 1,265.7 1,593.8
KERISAE Fm3 0.7 2.5 0.5 1.6 0.5 1.2 0.1 32.0 0.2 5.2
EERATIEE Fm3
FKFIFE Fm3 1.0
HRERE k> 0.7 1.7 1.1 3.0 1.7 0.5 0.0 4.4 0.1
PRTRMFULFEWEIAE k> 0.1 0.4
VOC(BRIEMILEMIRAR) k> 0.4
OUTPUT (84iT)
IR KR
CO2HE k>-Cc0o2 100.7 567.1 72.6 248.4 83.5 8.7 79.1 7.2 5,045.2 702.8 885.6
HikE Fm3 0.7 2.5 0.5 1.6 0.5 1.2 0.1 15.6 0.2 5.2
BOD k> 3.2
cob k>
ASERIE
NOXx k> 0.2
SOx [ 7 0.8
EWOA [ 7 0.0
PRTRESHEZMIEHHEE - BBIR b 0.4
Hh= b 0.4
BHE k>
VOC(ERIMEMLam) JhtE k> 0.4
FEEMERES X1 k> 31.0 58.7 11.2 14.9 13.2 0.9 189.3 26.5 56.3
BEMFRELES k> 5.2 82.6 0.5 2.0 296.0 28.7 29.1
EENHRLES k> 31.0 58.7 11.2 14.9 13.2 0.9 189.3 26.5 56.3
SIHETINS S k> 1.0 2.1
BERE k> 34.5 119.3 11.2 12.8 13.7 2.9 453.3 53.6 85.4
BEREE x2 100.0% 99.2% 100.0% 86.1% 100.0% 100.0% 100.0% 100.0% 100.0%

%1 Bffinzassd.

X2 BERMLE=-BARCE: (BERMLE+RRLDE)




